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1.Which service component is in the plan phase? 

A.Project Milestones 

B.Operations Planning 

C.Physical Design Workshop 

D.Security Readiness Assessment 

Correct:D  
2.In which service component are gaps between current infrastructure and requirements for CSA 
analyzed? 

A.Security Readiness Assessment 

B.Site Readiness Assessment 

C.High Level Design for CSA 

D.CSA Operations Implementation 

Correct:B  
3.What is the first activity that is conducted in an IPS mode implementation? 

A.Create a Rule from a Query 

B.Tune for False Positives 

C.Install the Sensor, Schedule a Network Outage Prior to the Installation 

D.Fine Tune the Custom Policy 

Correct:C  
4.What will the Security Assessment service component in the optimize phase help to do? 

A.Document New Logical-Level Functionality Requirements for CSA, IPS, or MARS 

B.Document New High Level Training Requirements 

C.Ensure Specified CSA Network Connectivity Requirements Are Met 

D.Identify Changes That Should Be Made to Security Policies, Procedures, or Software/Hardware 

Products 

E.Gain Customer Agreement for Detailed Security Design Requirements 

Correct:D  
5.Which task may be performed as part of an IPS mode implementation? 

A.Enable and Disable a Rule 

B.Connect the Sensor to the Management Station 

C.Select an SQL Server 

D.Conduct POC Updates 

Correct:B  
6.What describes the Business Requirements Development service component in the prepare 
phase? 

A.the creation of a model network that replicates the proposed security solution 

B.a process by which the partner can determine if the security solution that is being proposed matches 

the customer's security requirements 

C.the creation of a topology map for the solution and the identification of products and services that will be 

required to implement the solution 

D.meetings with different customer stakeholders to gather the customer's requirements for the security 

solution 

E.a process that identifies the customer's security reporting requirements 

Correct:D  
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7.Which two tasks are associated with the technology strategy meeting in the prepare phase? 
(Choose two.) 
A.Document the Customer's Current and Future Technology Projects 

B.Assess Current Security Management Procedures 

C.Determine the Security Solution Feature and Function 

D.Identify a Set of Systems That Will Be Protected in a Pilot Implementation Based upon Guidelines 

E.Document Security Policy Requirements 

Correct:A E  
8.Which resource is commonly used in the prepare phase of a typical security engagement? 

A.Security Project Plan 

B.Security Site Survey 

C.Security Installation Guides 

D.Security Business Requirements Documents 

E.Product Release Notes 

F.Security Readiness Assessment Template 

Correct:D  
9.Drop  

Correct: 
Green choice4---->Yellow Choice1 
Green choice3---->Yellow Choice2 
Green choice2---->Yellow Choice3 
Green choice5---->Yellow Choice4 
Green choice1---->Yellow Choice5 
Green choice7---->Yellow Choice6 
Green choice6---->Yellow Choice7 
Green choice8---->Yellow Choice8 

10.Which activity is performed in Security Readiness Assessment? 

A.Assess Existing Software Operations Procedures 
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B.Survey Facility Site 

C.Preliminary Technology Discovery 

D.Assessment and Remediation Planning 

Correct:A    


